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Function Arguments #=]
PMT
Rate 7% = 007
Nper 16 = 16
Pv | 50000000 = 50000000
Fv I = number
Type Io =0
= .5292882.386

Calculates the payment for a loan based on constant payments and a constant interest rate.

Type is a logical value: payment at the beginning of the period = 1; payment
at the end of the period = 0 or omitted.

Formula result = -5292882.386

Help on this function [ OK ] [ Cancel ]
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[type] =135 O )
253 bl s CL“‘
Function Arguments ? =]
PMT
Rate |29% = 002
Nper |24 =2
Pv | 120000000 = 120000000
Fv I = number
Type 1 =1
= 6220129.089

Calculates the payment for a loan based on constant payments and a constant interest rate.

Type is a logical value: payment at the beginning of the period = 1; payment
at the end of the period = 0 or omitted.

Formula result = 6220129.089

Help on this function [ OK ][Cancel ]
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Function Arguments #=]
PMT
Rate |1.5% = 0015
Nper 36 = 36
Pv I = number
Fv 180000000 = 180000000
Type Io =0
= -3807431.196

Calculates the payment for a loan based on constant payments and a constant interest rate.

Fv is the future value, or a cash balance you want to attain after the last
payment is made, 0 (zero) if omitted.

Formula result = -3807431.196

Help on this function [ OK ] [ Cancel ]
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Function Arguments
PMT
Rate 15%
Nper 7
Pv 100000000
Fv |
Type |0

"
o

() ) e ) )

Formula result = ($24,036,036.36)

Help on this function

Calculates the payment for a loan based on constant payments and a constant interest rate.

Type is a logical value: payment at the beginning of the period = 1; payment
at the end of the period = 0 or omitted.

= -24036036.36

[ ok || cance |
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Function Arguments
PPMT
Rate
Per
Nper
Pv
Fv

Returns the payment on the principal for a given investment based on periodic, constant payments and a

constant interest rate.

Formula result = -13742681.8

Help on this function
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-13742681.8

Pv is the present value: the total amount that a series of future payments
is worth now.

OK ] [ Cancel
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Formula result = ($28,275,527.06)

Help on this function

Function Arguments
PMT
Rate |17% = 017
Nper |11 =1
PV 160000000 = 160000000
Fv I = number
Type |1 =1
= -28275527.06

Calculates the payment for a loan based on constant payments and a constant interest rate.

Type is a logical value: payment at the beginning of the period = 1; payment
at the end of the period = 0 or omitted.

[ ok || cance |
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Function Arguments (7] =]
IPMT
Per |7 =7 A
Nper 11 e = 11
PV 160000000 = 160000000 g
Fv =
Type |1 | o= 1 -
= -15378743.33

Returns the interest payment for a given period for an investment, based on periodic, constant payments and a
constant interest rate.

Type is alogical value representing the timing of payment: at the end of the
period = 0 or omitted, at the beginning of the period = 1.

Formula result = ($15,378,743.83)

Help on this function OK ] [ Cancel
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A

1|44y s 4asm (500,000,000)
2| 1dwsas0s 100,000,000
3| 2dwsas 125,000,000
4 | 3Jdusass 200,000,000
5| 4Jwsesus 100,000,000
6 | 5Jduwisas 85,000,000
7| 6Jdhisasus 160,000,000
S35, JlAda
values cJ}JoMO:JSb‘)\jLSl;u Jl’g’.')j;‘ﬁdb‘ﬁ)}°-’)b“‘81:87
Ly slael Ol 5 o0
000000,100000000,85000000,160000000}
[guess] Ll J
LR
———— |
Function Arguments
IRR
Values | B1:87 = {-500000000;100000000;125000000;...
Guess | = number
= 0.136524017

Returns the internal rate of return for a series of cash flows.

Values is an array or a reference to cells that contain numbers for which you
want to calculate the internal rate of return.

Formula result = 0.136524017

Help on this function [ OK ] [ Cancel ]
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Function Arguments
NPV

Rate

Valuel

Value2

Value3

Value4

Help on this function

13%
-200000
120000
110000
150000

Returns the net present value of an investment based on a discount rate and a series of future payments
(negative values) and income (positive values).

Value4: valuel, value2,... are 1 to 254 payments and income, equally spaced in

Formula result = 85219.77856

#(=]
&) = 043 -
= -200000
£%:| = 120000
= 110000
£%:| = 150000 -
= 85219.77856

time and occurring at the end of each period.

[ OK ][ Cancel ]
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2 1w 100,000
3 2 Jw 170,000
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5 4 Ju (30,000)
6 5 Ju 150,000
7 6 Ju 110,000



www.mybook.ir
YoAY ST 0,0,y Jbo @algs

J=

LIS e

rate AR

V8.|U€1 ML’L&'GCJL ;;’-'JJ’.'JLS"})J oJ}JMcB]JB?
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Function Arguments

(% (=]

NPV

L]

0.11

Rate |11% %
Valuel B1:B7
Value2

I
&)
]

{-500000;100000;170000;65000;-300...

1

#
n

= -86793.14822
Returns the net present value of an investment based on a discount rate and a series of future payments
(negative values) and income (positive values).

Rate: is the rate of discount over the length of one period.

Formula result = ($86,793.15)

Help on this function [ OK ] [ Cancel
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Function Arguments
DB
Cost 10000000 = 10000000
Salvage | 2000000 = 2000000
Life s =5
Period |2 =2
Month l = number
= 1993750

Returns the depreciation of an asset for a specified period using the fixed-declining balance method.

Period is the period for which you want to calculate the depreciation.
Period must use the same units as Life.

Formula result = 199375000%

Help on this function [ ok || canca |

S2505

cost A ERERRTY
salvage el ghyls Blisd (il Yorve e

life ol Jle 0 olls dde e (0
period RCOUW PO PP R P PR |
[month] o3 S eslizal sl Jla s glls Slele 0 0y 0
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Cost | 10000000 ] = 10000000
Salvage | 2000000 (] = 2000000
Life s B - s
Period 2 B - 2
Month |5 B - s
= 2434895833

Returns the depreciation of an asset for a specified period using the fixed-declining balance method.

Month is the number of months in the first year. If month is omitted, it is
assumed to be 12,

Formula result = 243489583%

Help on this function
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Fodonfgumes o=

DDB
Cost | 15000000 = 15000000
Salvage | 1000000 = 1000000
Life 6 =6
Period 3 =3
Factor I = number
= 2222222222

Returns the depreciation of an asset for a specified period using the double-declining balance method
or some other method you specify.

Period is the period for which you want to calculate the depreciation.
Period must use the same units as Life.

Formula result = 222222222%

Help on this function [ ok || cance |
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Function Arguments % [=]
SIN
Cost 11000000 = 11000000
Salvage | 2000000 = 2000000
Life |5 =5
= 1800000

Returns the straight-line depreciation of an asset for one period.

Life is the number of periods over which the asset is being depreciated
(sometimes called the useful life of the asset).

Formula result = 180000000%

Help on this function [ OK ] [ Cancel ]
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Cost | 16000000 [E] = 16000000
Salvage | 2000000 (] = 2000000
Life 6 B -6
Per 4 B - 4

= 2000000

Returns the sum-of-years’ digits depreciation of an asset for a specified period.

Per is the period and must use the same units as Life.

Formula result = 200000000%

Hel this functi
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Function Arguments (=]
PV
Rate 2% = 002
Nper 24 = 24
Pmt | -1000000 = -1000000
Fv =
Type | =
= 189139256

Returns the present value of an investment: the total amount that a series of future payments is worth now.

Pmt is the payment made each period and cannot change over the life of
the investment.

Formula result = 1891392560%

Help on this function [ OK ] [ Cancel
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Function Arguments (% |[==]
FV

Rate 2% = 002

Nper 24 = 24

Pmt | -1000000 = -1000000

Pv =
Type =
= 3042186247

Returns the future value of an investment based on periodic, constant payments and a constant interest rate.

Pmt is the payment made each period; it cannot change over the life of the
investment.

Formula result = 3042186247%

Help on this function [ OK ] [ Cancel
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